WFHACHS: 002562 IR SRR NS 2023-039
TR U 128021 GigFRIAR: Do AR

RHEMBRBAERAR
RT LR w0 IR “ SRR TEERRRREAS

EAFIREEEERARIEFEHBNNTEEL. #H. <8, &F
BRIEH. REEFRRENR.

R AR
R ZAHE: 002562 B E AR SR
fRF40S: 128021 EERR: WEE

Ry kE . 201846 H4H £2023411 528H
B EE AR 202354 H27THE AT 2022 B IR BAUEE H 1k
R AR A F]20224E BN R IRBACB ICHERE AN S5 H

SRR AR A (BUR IR “Aw” ) $ T H A AT20225 FEA G 7 IR LA 7
WRYE COLBRHEB A A PR A T RIF AT T A 7 Gir 5B U ) o R A% 1 i 8 7
RN GEILAE) SRR ZIE S R 55 Ip B R I RLE ,  H 2023484 27
HEE 2 20225 A 2 70 IRIBCEIL H ik, AR A/ e (BFfifR: Wefihi, fF
ARG 128021) REE1EHEBE, ARt /- IRIBUE IC H R R 2R — 32 5 HiR IR S 56 ik . fE L
BRI, AR AR AR GIFIER AL S, HOE A R WA R B NEE

R A S

SR RHB A AT PR 22 7]

EHE
2023 44 H 25 H



B CLRBHBR A R AR ATFRAT TR AT FRFERUA R FRT “BRMS KA
BITERTEAR” HHE

(2) AR AR B T S B A 2R

HERRKATZ G, BATVRAETORLI . R MR OARERARICRATI ]
4G 8 ) T P T S I AR D« B DA SR R I 4 IR A L, K4 IR A AT R I
IR (REDNBUSEWAL, RJE— A& -

TRIZLL B G A . P1=P0/ (1+n);

1R AL : P1= (PO+AXk) / (1+k);

RBP4 Pl= (PO*AXKk) / (1+ntk);

IRIEIL & A : P1=P0-D;

FIR=TFER 47 Pl= (PO-D+AXk) / (1+n+k),

Horb: PO NURBEETEE AT, P1 ONTABEERRAT, n NIEIREIEMIAR, A AR
AN BB, kAR RETIREEC R, D R BIRIE LA R .

0 F I IR B AN/ BB AR AL S AR LR, K AR AT R AN AR TR, HAEIRYINE
F5 38 Gy B sl R o [EIE B x4 0 1) BT RIS B R A TS E S A, T A
AR A A R AR H L R R I (AN A A M TR R AR AT I
A R R REA NI RS DB 5, F i mr S0 H i, MNZReA N I B g 4%
O3 ) YR RE i PR BB AT

N FE T RER ARG I G FE A SEBUAT A H AR AL 2 7 B4 200 B A/ SR R
A et A AR A AT RT BE S I AR IR AT 14 7T A 4 A R 53 957 R N I B BUR 2 B B AT AR A
B, ARSI AT AR A SR PR 78 5 AR AR AT I AT 54 A W £t
FFREA NI S5 0 B A AN A% o« A7 DA AN A T B PN 8 SRR TR AR i B 5 K
VERVE R SRR W A 1 R A DGR SR IIT



